
PROGRAM WORKFLOW STAGE 2 - Disaggregated contribution per program

MODEL STRUCTURE

PROGRAM WORKFLOW STAGE 1 - Aggregated net impact per program

PROGRAM WORKFLOW STAGE 4 - Aggregate parametersPROGRAM WORKFLOW STAGE 3 - Rescale impacts

PROGRAM SPECIFICATION

Program 1

Population 1 (e.g. 0-5) Population 2 (e.g. 5-15)

Parameter 1 Pop 1 Parameter 1 Pop 2

Source
Compartment 1

Link 1 Link 2 Link 5 Link 6

Source
Compartment 2

Source
Compartment 5

Source
Compartment 6

Parameter 2 Pop 1

Source
Compartment 3

Link 3 Link 4

Source
Compartment 4

Parameter 2 Pop 2

Link 7 Link 8

Source
Compartment 7

Source
Compartment 8

Net coverage
Program 1

Alloc (spending 
on this program)

Impact function Par 1 
(group A)

Net impact Par 1 Prog 1

Program 2

Net coverage
Program 2

Alloc (spending 
on this program)

Impact function Par 1 
(group A)

Net impact Par 1 Prog 2

Number of people in population 1

Number of people affected by Par 1 in Pop 1 Number of people affected by Par 2 in Pop 1 Number of people affected by Par 1 in Pop 2 Number of people affected by Par 2 in Pop 2

Number of people in population 2

Coverage could be a fraction
or a number of people

Parameter 1 Pop 1
Program 1 Contribution

(fraction)

Net coverage
Program 1

Operating on Parameter 1 Population 1

Number of people reached by 
Group A parameters across 
pops reached by Program 1

Source set popsize

Compartment 1
Compartment 2

Compartment 1
Compartment 2
Compartment 3
Compartment 4
Compartment 5
Compartment 6
Compartment 7
Compartment 8

Net coverage
Program 1

Divide

If the Program’s net 
coverage is a fraction

If the Program’s net 
coverage is a number

Parameter 1 Pop 1
Program 1 Contribution

(number)

NOTE - this does not depend on 
which population is being reached

Number of people affected by 
Par 1 in Pop 1

Source element popsize

Number of people reached by 
Group B parameters across 
pops reached by Program 2

Source set popsize
Compartment 1
Compartment 2Compartment 1

Compartment 2

Fractional coverage
Program 2 Group B

(fraction)
Net coverage
Program 2

Divide

Multiply

Multiply

PROGRAM 1 - PARAMETER 1 IS IN GROUP A

PROGRAM 2 - PARAMETER 1 IS IN GROUP B

(For simplicity, this 
illustrative example 

only shows the 
case where the 
Program and 

Parameter units are 
both number)

Fractional coverage
Program 1 Par 1

Fractional coverage
Program 2 Par 1

Only if sum of fractional 
coverages is greater than 

1 - otherwise contributions 
are used directly without 

normalization 

Parameter 1 Pop 1
Program 1 Contribution

Parameter 1 Pop 1
Program 2 Contribution

Divide

Sum

Divide

Rescaled Par 1 Pop 1
Program 1 Contribution

Rescaled Par 1 Pop 1
Program 2 Contribution

Modality interactions could take place at this point (not yet implemented)

Rescaled Par 1 Pop 1
Program 2 Contribution

Rescaled Par 1 Pop 1
Program 1 Contribution

Sum Par 1 Pop 1
Final parameter value

Program 1
Pop 1

Pop 2

Unit cost

Group A

Par 1

Par 2

Target Parameters
(specified in cascade)

Target Populations
(specified in databook)

Program 2
Pop 1

Unit cost

Group B

Par 1

Group A

Par 2

Note that impact 
groups are defined 
independently for 
every program

If the Parameter’s value 
is a number

If the Parameter’s value 
is a fraction

Fractional coverage
Program 1 Group A

(fraction)

Fractional coverage
Program 1 Group A

(fraction)

Number of people affected by 
Par 1 in Pop 1

Source element popsize

Net impact Par 1 Prog 1

Net impact Par 1 Prog 1 Fractional impact Par 1 
Prog 1

Fractional impact Par 1 
Prog 1Divide

Fractional impact Par 1 
Prog 1

Fractional impact Par 1 
Prog 1 Multiply

Denominator

Stage 2.1 Stage 2.2

Net impact Par 1 Prog 1 Fractional impact Par 1 
Prog 1

Divide Multiply
Parameter 1 Pop 1

Program 2 Contribution
(number)


